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1.1 Definicija polinoma, seštevanje in

množenje

������� p �� 	�
��
 ���
���
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��

p(x) = anxn + an−1x
n−1 + ... + a1x + a0

��
��
 ������
 an, an−1, . . . , a0 �� 
��������� �������
 p�

�	� ��� �� an �= 0� 	
��� � �	���	�� 
� �� ��� 
��������� ��

� � �������� ���������
��������� an ��������� ������� ���	
����� ���� anxn �
 ������� ����� ���������
a0 �� 
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�� 
����� �����  ������ n �� ���
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� !��
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�� �� ��������
�� f(x) = 2x2 − 4x + 5 �� f(x) = −3x2 − x − 2

� f(x) = 4x3 + 4x2 − 3x �� f(x) = −5x3 + 2x + 1
�� f(x) = 6x7 + 5x6 − 4x5 + 3x4 − 2x3 + 3x2 − 4x − 5
�� f(x) = 2x−3 �� f(x) = 2x−4 + 3x−3 − 2x−1 − 4
�� f(x) = −3x111 − 7 �� f(x) = log2 x

�� f(x) = log3 x + log2 x − log x − 1 �� f(x) = −3

�� f(x) = 5x + 1 �� f(x) = 5
√

x2

�� f(x) =
√

5x3 +
√

2x2 − 3
√

3x +
√

5 �� f(x) = 3
√

x − 2
√

x − 2


� f(x) =
1
2
x2 + 1 − x4

�� (����� �������� ��$���� 
��������� ��$���� ���� �� �	���� ���� �������
 p(x) =�
�� 5x2 + 2x − 3 �� −2x2 − x + 7

� 4x3 + 3x2 − 5x + 1 �� x3 + 2x2 − 2x − 1
�� −x4 + 2x2 + 2 �� 2x4 + x3 − x2 + 4x

�� x8 + 2x5 − 11x3 − x �� 4x − 1
�� −x4 �� 2
�� 3x2 + 1 − x4 �� 2x + 2x6

�� −1
3
x4 + 2x3 − 1

2
x2 +

2
5
x + 4 �� −x5 + x2 − 3x − 5

2
�� 2·25x3 − 1·5x + 0·5 
�

√
2x3

��
√

5x2 − 2x −
√

2 �� 3
√

1 + πx4 − e3x3 + π2x2 + 2e
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 � &����� �������
�
�� x3 + 2x �� x2 + 3x + 1 �� 2x3 + x2 − 2 �� x4 − 2x2 + 4x


� x3 − 2 �� x + 4 �� −3x4 + 2x2 �� 2x3 + 5x − 1
�� x2 + 3x + 1 �� x2 + x − 2 �� −x2 + 4x − 3 �� x2 − 2x − 2
�� 2x3 + 4x2 − 1 �� −5x3 + 6x �� 6x7 + 4x3 + 2x �� 5x3 + 2x2 − 4
�� 5x4 − 3x3 + 2x − 4 �� −5x4 + 2x3 + 6x2

�� 5x7 + 3x6 − 2x2 + 1 �� −3x6 + 2x2 − 1
�� x4 + x2 + 1 �� −x3 − x �� −2x6 + 4x3 − 2 �� 2x6 − 4x3 + 5

�� 4x4 − 2x2 − 5x �� −4x4 + 2x2 + 5x ��
1
2
x3 + 4x − 7

3
��

1
2
x3 + 6x2 +

1
3

�� 5x5 + 4x3 +
7
5
x �� −2x4 +

3
5
x − 1

2

�

3
2
x2 +

1
3
x �� 2x3 − 3

4

��
3
2
x3 + 2x − 1

3
�� −1

3
x3 + 2x2 − 1

2
x +

5
6

�� 4x8 +
2
7
x6 + 8x3 − 1

3
x + 4 ��

2
3
x3 + x2 +

1
5
x

�� 2
√

2x3 −
√

3x2 −
√

7 �� −3
√

2x3 +
√

5x

��
√

3x5 + 2
√

2x2 −
√

3x + 2 �� x4 + x3 − 4
√

3x

!� !$���� �������
�
�� 2x3 + 3x �� x2 + x − 3 �� 2x3 + x2 − 2 �� x4 − 2x2 + 4x


� 2x3 − 1 �� x + 3 �� −x4 + 2x2 �� 4x3 + 5x − 1
�� x2 + 3x + 1 �� −x2 + x − 2 �� x2 + 4x − 3 �� x2 − 2x − 2
�� 2x3 + 4x2 − 1 �� −5x3 + 5x �� 3x7 − 3x6 + 2x2 �� −3x6 + 2x2

�� −5x4 + 3x3 + 2x − 4 �� −5x4 + 2x3 − 6x2

�� 6x7 + x3 + 2x �� 5x3 + 2x2 − 4 �� x4 + x2 + 1 �� −x3 − x

�� −4x6 + 8x3 + 2x �� −4x6 + 2x �� 4x4 − 2x2 − 5x �� −4x4 + 2x2 + 5x

��
3
2
x3 + 6x − 7

3
��

1
2
x3 + 4x2 +

2
3

�� 3x5 +4x3− 6
5
x �� −2x4 +

5
2
x2− 1

5
x


�
3
4
x2 − 1

5
x �� 2x3 − 3

4
��

3
2
x3 − 1

3
�� −1

3
x3 + 2x2 − 5

2
x +

5
6

�� 3x10 + 2x7 − x3 − 1
3
x2 + 4x ��

2
3
x3 +

1
2
x2 − 7

�� 2
√

2x3 −
√

3x2 −
√

7 �� −3
√

2x3 +
√

5x

��
√

3x5 + 2
√

2x2 −
√

3x + 2 �� x4 +
√

2x2 − 4
√

3x − 5

"� (
�� �� �������� p(x) = x4 + 3x3 − 2x2 + 5x + 6� q(x) = 2x4 − 2x2 − x − 1 ��
r(x) = 3x3 − 2x2 + 4x + 4� )�	
���
��
�� p(x) + q(x) �� p(x) + r(x) 
� q(x) − r(x)
�� p(x) − r(x) �� p(x) + r(x) + q(x) �� p(x) − r(x) − q(x)
�� 2 · p(x) − q(x) �� q(x) + 4 · r(x) �� 2 · r(x) − 3 · p(x)
�� 4 · p(x) − 2 · q(x) �� q(x) − (2 · p(x) − 2r(x))
�� 5 · p(x) − (3 · r(x) − 2q(x))

�� �������� �� 	
����
��� 
������� �



#� )�	
���
� �	�$�
� ����������
�� 2x2 − 3x + 1 �� x − 2 �� −3x2 + x − 4 �� x + 2

� 2x2 − 1 �� 3x �� x3 + 2x2 �� x2 + 4x − 1
�� x4 − 2x3 + 4 �� −x + 3 �� 2x2 + 4x − 1 �� −2x2 + 4x + 3
�� −x3 + 2x2 − x �� x2 − 6x + 1 �� x3 + 2x �� x4 − 2x2 − 1
�� x5 − x2 �� x5 + x2 �� x6 − 1 �� x6 + 1
�� x + 5 �� x2 − 5x + 25 �� x − 6 �� x2 + 6x + 36

��
1
2
x4 − 1

4
x2 − 1 �� 8x2 + 4x − 12 �� 3x2 + 12x �� x5 − 2

3
x3 +

1
3

��
1
2
x3 − 3

2
x +

1
3
�� 3x4 − 1

4
x2 + 2x 
�

1
3
x2 − 5

2
x +

1
2
�� −3

2
x4 +

2
5
x3

�� −x6 + 2x5 − 4x4 + 3x2 − 2x �� 2x2 + 4
�� x3 − 1 �� x4 + x3 − 2x2 + 2x − 3 ��

√
2x2 +

√
3 ��

√
2x2 −

√
3x +

√
6

��
√

5x3 + 2
√

2x − 1 ��
√

2x2 −
√

10x + 1

$� *
� �� p(x) = −3x2 + x− 2 �� q(x) = x + 1� (����� �������� ��$���� 
���������
��$���� ���� �� �	���� ���� �������
�
�� p(x) + q(x) �� p(x) − q(x) 
� q(x) − p(x)
�� 3p(x) + 2q(x) �� p(x) + 3x · q(x) �� p(x) · q(x)
�� (p(x))2 �� (q(x))2 �� (q(x))3

�� −2 · p(x) − 4(q(x))3 �� (p(x))2 + (q(x))2 �� −2x((p(x))3+ (q(x))5)
�� (p(x))5+3(q(x))11−(p(x)+2q(x))4

%� )�	
���
� �	�$���� �������
 � � $
��# ���

#�
�� p(x) = x3 + 2x2 + x − 3+ x = 0,−1, 1, 2
�� p(x) = −x4 + 2x3 + 5x2 + 2x − 1+ x = 0,−1,−2,

√
3


� p(x) =
1
2
x5 − x3 +

1
2
x2 − 1+ x = −1, 1, 2,

1
2

�� p(x) = 2x4 − 6x2 − 3x + 1+ x = −2,
1
3
,
−2
3

,
√

2

�� p(x) = x9 − 4x8 + 2x3 − 2x2+ x = 0, 3
√

3,−i, i

�� p(x) = x4 + x2 − 2x + 6+ x = 1 +
√

2, 1 −
√

2, 1 + i, 1 − i

�� p(x) = x3 + 2x2 + 2x+ x = −1 + 2i

�� p(x) = (2 +
√

3)x3 −
√

2x2 +
1
2
x+ x = 2 −

√
3

&� (
� �� ������� p(x) = −x3 + 2x + 4� '
�����
�� p(−x) �� p(x + 1) 
� p(x

2 )
�� 2p(x − 1) + p(x2) − 1 �� p(x) + p(−x) − 8

�'� (����� ������� p $	�"� �������� �� ���� $
 ���
�� p(1) = 2� p(−1) = −6� p(0) = −3 �� p(1) = −6� p(4) = 0� p(0) = −4


� p(2) = 2� p(−1) =
7
2
� p(0) = 1 �� p(−1) = 9� p(1) = 1� p(2) = 3
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��� 
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�� p(1) = 2� p(−2) = −10� p(2) = −6 �� p(3) = 6� p(−6) = 15� p(2) =
13
3

∗�� p(0) = 3� p(i) = 2 − 2i ∗�� p(−1) = 9� p(1 + i) = 1 + i

∗�� p(
√

2) = 2� p(2i) = 2 − 4
√

2 − 4i

∗�� p(1 +
√

3) = 2, p(−2 + i) = 1 − (3 +
√

3)i

��� (����� ������� �	���� ������� � 	�
����� 
���������� �� ���� $
 ���
�� p(1) = 1� p(−1) = 1� p(2) = 1� p(0) = −1
�� p(1) = −3� p(2) = 11� p(3) = 49� p(0) = −5

∗
� p(2) = −3� p(−2) = −23� p(3) = 7� p(−1) = −9

∗�� p
(1

2

)
= 0� p(2) = 6� p(−1) = −3

2
� p

(
−1

2

)
= −1

4

∗�� p(0) =
1
2
� p(1) = 2� p(−i) = −3i

∗�� p(−1) = −2� p(
√

2) = 3
√

2� p(1 + 2i) = −10

��� )�	
���
� ����� 
���������� �������
 p(x) =�
�� x3 − 4x2 + 2x + 1 �� (x3 − 4x + 1)5 
� −2(x − 2)7

�� (2x3 − 7x2 + 3x + 3)21(5x2 − x − 5)31(x4 − 2x2)42

�� (x + 1)4 − (x − 1)4 + (2x − 1)5

�� (x4 − 2x3 + 5x2 − 3)3(x2 + x − 3)4 + 3(x + 1)5(2x5 − 3x3 + 2)10

� � (����� ������� $	�"� ������� � ��$����� 
���������� −1� �	����� ������ , ��
����� 
���������� -�

�!� (����� ������� �	���� �������� �	� 
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���������� - ��	 p(0) = 2 �� p(−1) = 3�

�"�∗ ������ ��� �������� p� �
 

��	� ����
�
�� p(x + 1) = x2 − 3x + 1 �� p(2x − 1) = 2x3 − 4x2 + x + 3

� p(x − 1) = −x3 + x2 + 4 �� p(2x + 3) = 4x2 + 12x

�#�∗ ������ ��� �������� p� �
 

��	� ����
 (x2 + x)p(x + 1) = p(x2 + 1)

�$�∗∗ (�

%�� $
 �� ����
�
 ������� � ������ 
���������� �
 

��	�"
 �� ����
�� p(1) = 4
�� p(3) = 5�

�%� *
� �� p(z) = (1 + i)z3 + 2z2 − iz + 1 �� q(z) = (1 − i)z2 − 2z + 2i� )�	
���
��
�� (1 + i)p(z) �� p(z) − 2iq(z) 
� p(z) + q(z) �� (q(z))2

�� p(z)q(z) �� (1 − i)q(z) − (1 + i)zq(z)

�&� )�	
���
� �	�$���� �������
 p � $
��# ���

#�
�� p(z) = (2 − i)z2 + 3iz − 2i+ z = 0,−1, 1, 2
�� p(z) = −3z3 − 2iz2 + 2iz − 3+ z = 0, 1,

√
2, i


� p(z) = (3 − 2i)z4 + 2iz − 2+ z = i,−2i, 1 + i, 1 − i

�� p(z) = (2 + i)z2 + (3 − i)z + 1 − i+ z = 3i, 2 − i,
√

2 + i, 1 −
√

2i

�'� (����� ������� p $	�"� ������� � 
�����
����� 
���������� �� ���� $
 ���
�� p(1) = −2� p(i) = −1 − i� p(1 + i) = −1
�� p(0) = 2 + 2i� p(i) = 0� p(2 − i) = 2 + 2i

�� �������� �� 	
����
��� 
������� �




� p(i) = 1 + i� p(−i) = 1 + i� p(1 − i) = −3 − i

�� p(1) = 6� p(2 + i) = 17 + 15i� p(3 − 2i) = 16 − 42i

��� (����� ������� p �	���� ������� � 
�����
����� 
���������� �� ���� $
 ���
�� p(0) = 1� p(−1) = 2 − 2i� p(1) = 2 + 2i� p(i) = 0
�� p(0) = 2 + i� p(1) = 4 + 2i� p(i) = 3 − i� p(1 + i) = −2 + 3i

� p(−i) = −2 + i� p(i) = −i� p(1 − i) = −1 − 4i� p(1 + i) = −5
�� p(−i) = −1 − i� p(i) = −1 + i� p(2i) = 2 − 4i� p(1 + i) = −2 + 2i

1.2 Deljenje polinomov

'
 �������
 �������
 p �� q �= 0 ����
�
�
 �


 �������� $������
 �������
 k �� r�
$
 ����
�

p(x) = k(x)q(x) + r(x) st(r) < st(q) ali r = 0

.� �	$���� ��������� ������� ����� � �������� 
��������� ������� k ���������
���
���� �
������
�� ������� r �
 ������� �	� $������� �������
 p � ��������� q�

������� p �� ������ � ��������� q �������� q $��� ������� p�� �� �� ���
��
 �	�
$������� ��

 ��������� ���������

��� (����
�� (x2 + 3x − 1) : (x + 2) �� (x2 − 4x + 4) : (x − 2)

� (x3 + x2 + x + 4) : (x2 − 2x + 2) �� (x3 + 2x2 + 4x + 3) : (x + 1)
�� (2x4 − 3x2 + 6x − 2) : (x + 2) �� (2x + 1) : (x − 3)
�� x5 : (x3 + 3x − 1) �� (x4 + 3x3 − 2x2 + x − 6) : (x3)
�� (x + 3) : (x2 − 4x + 5) �� x3 : (x5 − 1)
�� (−4x2 + 5x + 2) : (x − 3) �� (−3x3 + 2x2 + x) : (x + 4)
�� (x4 − 1) : (−x + 1) �� (6x3 + 4x2 + 8x) : (−2x + 4)
�� (x2 + x6) : (x4 − 2x2 + 3) 
� (4x3 + 2x2 + 2x − 4) : (2x − x2 + 1)
�� (−3x2 − 2x + 4) : (x − 1)2 �� (x − 1)3 : (x + 1)3

�� (2x3 +3x2 +5x+4) : (1
2x2 +x+1) �� (5x2 − 3x − 1) : (−3x + 2)

∗�� (2x3 − 2ax2 + (a2 + 1)x + 2a + 3) : (x + 1)

∗�� (a2x4 + (a3 + 1)x2 − 3a) : (x2 + ax + 1)

� � /"������ 
�� �� ������� p $����� � ��������� q�
�� p(x) = x2 − 3x − 4� q(x) = x − 4
�� p(x) = x3 − 2x2 − 5x + 10� q(x) = x − 2

� p(x) = x2 + 5x + 4� q(x) = x + 3 �� p(x) = x3 − 1� q(x) = x + 2
�� p(x) = x3 +2x2� q(x) = x2 +4x−1 �� p(x) = 6x2 − 3x� q(x) = 2x2 − 1
�� p(x) = −4x4 + 24x2 + 8x − 3� q(x) = 2x2 + 4x − 1

�� �� �������� �� 	
����
��� 
�������



�� p(x) = 3x3 + 4x2 − 2x + 7� q(x) = x2 − 1
�� p(x) = x5 − 2x4 + x� q(x) = x3 − 3x2 − 2x + 4
�� p(x) = 4x6 − 12x3 + 9� q(x) = 2x3 − 3

∗�� p(x) = ax4 − (2a + 1)x3 + a2x2 + x + a + 1� q(x) = x − 1� a ∈ ��

∗�� p(x) = −ax2 + (a2 − b)x + ab� q(x) = x − a� a ∈ ��

�!� (��� ������� p � ��������� q �� ��0�� �
���� � ����
� �������"
 ��	�

 � $��������
�� p(x) = x2 + 2x + 2� q(x) = x + 1 �� p(x) = x2 + 3x − 1� q(x) = x − 2

� p(x) = x3 − x� q(x) = x + 2 �� p(x) = x3 − 5x + 4� q(x) = x − 1
�� p(x) = x2 − x + 1� q(x) = x3 − 2x2 �� p(x) = x5+3x3−4x� q(x) = x3+4x

�� p(x) = −5x3 + 4x2 + 5x − 4� q(x) = x2 − 1
�� p(x) = x3 + 4x − 2� q(x) = x2 + x − 2
�� p(x) = 6x3 + x2 − 2� q(x) = −x2 − 4x + 1
�� p(x) = x4� q(x) = x3 + x2 + 2x − 2

�"� (����� ������� p� 
� $
 �	� $������� � ��������� q 
������
 k �� ���
��
 r�
�� q(x) = x − 2� k(x) = x + 3� r(x) = 1
�� q(x) = x − 4� k(x) = x − 2� r(x) = 7

� q(x) = x + 2� k(x) = x2 − x + 1� r(x) = −4
�� q(x) = 2x − 1� k(x) = x + 2� r(x) = 0
�� q(x) = x2 − 1� k(x) = x2 + x − 1� r(x) = x − 3
�� q(x) = x3 + x2 + 2� k(x) = −x + 2� r(x) = x2 − 1
�� q(x) = x2 − 1� k(x) = x3 + x + 2� r(x) = 0
�� q(x) = 2x2 + 4x − 1� k(x) = 0� r(x) = x + 4

�#� & 

��	�� ��������� ��	
� $����� ������� p(x) = 2x3 − 3x2 − 3x + 4� $
 $����

������
 k(x) �� ���
��
 r(x)� �� ���
�� k(x) = x − 1+ r(x) = 0 �� k(x) = x + 2+ r(x) = −18


� k(x) = 2x − 3+ r(x) = −5x + 7 �� k(x) = −2
3
+ r(x) = −3x2 − x

�$�∗ (����� �

� ������� a� $
 �� ������� p $����� � ��������� q�
�� p(x) = x3 − 5x2 + 4x + a� q(x) = x − 2
�� p(x) = 3x3 + x2 − 3x + a� q(x) = x2 − 1

� p(x) = x4 + ax2 + 3� q(x) = x + 1
�� p(x) = x3 + ax2 − 2x + 1� q(x) = x2 − 3x + 1

�%�∗ (����� �

� ������� a �� b� $
 �� ������� p $����� � ��������� q�
�� p(x) = x3 + 2x2 + ax + b� q(x) = x2 − 1
�� p(x) = 3x3 + ax2 − 5x + b� q(x) = x2 − x − 2

� p(x) = x3 + ax2 + bx + 2� q(x) = x2 − 2x + 1
�� p(x) = x4 + ax3 + bx2 + ax − 1� q(x) = x3 − x2 + x − 1

�&�∗ (����� �

� 	�
��� ������� a �� b� $
 �� �������
p(x) = 2x17 − 3x16 + ax15 + bx14 $����� � ����������
�� q(x) = x2 − 4 �� q(x) = x2 + 4

�� �������� �� 	
����
��� 
������� ��



 '�∗∗ (����� �

� �	�$����� �
	
���	�� a� b� c� d� $
 ����
 �������

p(x) = x3 + ax2 + 7x − 10 �� q(x) = x3 + bx2 − 4x + 12 $�����
 � ���������
s(x) = x2 + cx + d�

 �� (����
�� (x2 + 4x + 3) : (x + i) �� (x3 + 2x2 − 6x + 8) : (x − 1 + i)

� (2x2 + x − 2) : (x − i)2 �� (iz2 + (1 − i)z + 2) : (z − 2)
�� (z3+(2−i)z2+4i) : (z2−3iz+1−i) �� (iz3−(4− i)z+4+2i) : (z−1+2i)

1.3 Ničle polinoma

 ������ x0 �� ����� �������
 p� �� �� p(x0) = 0� �� �
 �� �
�
�
� �

	
�� 
� �� p(x)
$����� � x − x0� �	
����� $
 �� x0 k(������ ����� �����
 k0�� �������� �������
 p�
�� ��

p(x) = (x − x0)kq(x) q(x0) �= 0

������� n0�� ������� ��
 �
���� n ������

 �� )�	
���
� �	�$���� �������
 p � $
��# ���

#�

�� p(x) = 3x4 + x3 − 2x − 2+ x = 0, 1,−1, 2,−2,
1
2
,−2

3
,
√

2,
√

3

�� p(x) = x5 + x4 − 2x3 − 2x2+ x = 0, 1,−1,−
√

2,
√

2


� p(x) =
√

3x3 − 2x2 − 3+ x = 0,−2,
√

3,
√

3
3 , 1 +

√
3

�� p(x) = (x + 1)2(x − 1)2(x − 2)+ x = 0, 1,−1, 2,−2, 4,
3
2

�� p(x) = x2(x − 1)3(x − 2)2(x + 3)+ x = 0, 1,−1, 2,−2, 3,−3
�� p(x) = x2(x− i)(x+ i)(x+2−3i)(x+2+3i)+ x = 1,−2, i,−i,−2−3i, 1+ i

  � (
�
 ��
 �������
 p(x) = 2x2 − 3x + 7 �� q(x) = x3 + x − 3� )�	
���
��
�� p(0) + q(0) �� q(1) − p(1) 
� 2 · p(−1) + 3 · q(1)
�� p(2) + 9 · q(1) �� 5 · q(2) − 2 · p(3) �� p(4) − (q(−1))2

�� p( 1
2 )q(1)3 �� p(

√
2) + q(

√
2) �� p(2 − i) − 2q(i)

�� p(a − 1) + q(−a) �� ap(a + 1) − q(a − 1)

�� p(a3) − 2a3
(
q(a) − a +

3
2

)
− 7

 !� /"������ 
�� �� ������� −2 ����
 �������
 p(x) =�
�� x2 − 4x + 4 �� x3 + 4x2 + 4x


� x4 − x3 + 8x − 8 �� x5 + 3x3 − x2 + 32
�� x5 + 3x4 + 4x2 + 10x − 12 �� x4 − x3 − 3x2 + 3x

�� �� �������� �� 	
����
��� 
�������



 "� /"������ 
�� �� ������� −2 + i ����
 �������
�
�� p(x) = x2 + 4x + 5 �� p(x) = 2x2 − 4x + 1

� p(x) = −x3 + x2 �� p(x) = 2x4 + 8x3 + 9x2 − 4x − 5
�� p(z) = iz3 + (3 − i)z2 + 4 − 3i

�� p(z) = iz3 + (−1 + 4i)z2 + (−4 + 5i)z − 5
�� p(z) = (3 − i)z2 + (2 − 3i)z − 4 + 7i

�� p(z) = 3z4 + (2 − i)z − 11i

 #� '
���� ��� ����� $
��"
 �������
 �� $����� ���#��� ���
	
������
�� p(x) = (x − 1)2 �� p(x) = (x + 2)2


� p(x) = (x − 2)3 �� p(x) = (x + 3)3

�� p(x) = (x − 4)11 �� p(x) = (x + 2)12

�� p(x) = (x + 5)87 �� p(x) = x − 6

�� p(x) = −1
2
x �� p(x) = 3x2

�� p(x) = (x + 1)(x − 2) �� p(x) = x · (x + 3)
�� p(x) = −4x(x + 5)(x + 2) �� p(x) = x2(x − 1)(x − 3)
�� p(x) = (x + 3)2(x − 2) 
� p(x) = (x + 1)2(x − 1)3(x + 2)6

�� p(x) = x(x + 1)4(x − 2)4(x + 2)5

�� p(x) = −3
2
x3(x − 1)5(x + 1)8(x + 3)6(x − 8)

�� p(x) = x(x + 3)4(x − 3i)(x + 3i)
�� p(x) = x2(x − 1)(x + 3)(x + 3 − i)(x + 3 + i)

�� p(x) = (x −
√

2)3
(
x +

1
2

)2

(x − 5 − 2i)2(x − 5 + 2i)2

�� p(x) = (x − 1)2(x + 2 − 3
√

5)4
(
x − i

2

)3(
x +

i

2

)3

 $� (����� ����� �������
 p �

�� $
 "
 	
�������
�� p(x) = x2 − 1 �� p(x) = x2 − 9

� p(x) = x3 − 25x �� p(x) = x4 − 49x2

�� p(x) = −2x3 + 200x �� p(x) = x2 − 2
�� p(x) = x3 − 5x �� p(x) = x2 − 2x − 3
�� p(x) = x2 + 4x + 4 �� p(x) = x3 + 5x2 − 6x

�� p(x) = x4 − 8x3 + 16x2 �� p(x) = −2x2 + 2x + 12
�� p(x) = −3x5 − 9x4 + 120x3 �� p(x) = x3 + x2 − 25x − 25
�� p(x) = x3 − 2x2 − 4x + 8 
� p(x) = 5x6 − 3x5 − 5x4 + 3x3

�� p(x) = x4 − 5x2 + 4 �� p(x) = x4 − 13x2 + 36
�� p(x) = x6 − 7x4 + 12x2 �� p(x) = x3 − 9x2 + 27x − 27

 %� ���� ��
����
�� x3 + x = 0 �� x4 + 4x2 = 0 
� 3x2 − 5x + 2 = 0
�� 2x2 + x − 1 = 0 �� 2x5 + 5x4 − 3x3 = 0 �� −3 = 0
�� x2 + x + 3 = 0 �� 2x4 − 3x3 + 2x2 = 0 �� x2 − 2x − 2 = 0

�� �������� �� 	
����
��� 
������� �	



Rešitve



�� �� ��� �� ��� �� ��� �� ��� �� ��� 	� ��� 
� ��� �� ���

�� ��� 
� ��� �� ��� �� ��� �� ��� �� ��� �� ��� �� ���

�� Stopnja Vodilni koeficient Vodilni člen Prosti člen

�� 2 5 5x2 −3

�� 2 −2 −2x2 7

�� 3 4 4x3 1

�� 3 1 x3 −1

�� 4 −1 −x4 2

	� 4 2 2x4 0


� 8 1 x8 0

�� 1 4 4x −1

�� 4 −1 −x4 0


� 0 2 2 2

�� 4 −1 −x4 1

�� 6 2 2x6 0

�� 4 − 1
3

− 1
3
x4 4

�� 5 −1 −x5 − 5
2

�� 3 2·25 2·25x3 0·5

�� 3
√

2
√

2x3 0

�� 2
√

5
√

5x2 −√
2

�� 4 3
√

1 + π 3
√

1 + πx4 2e

�� �� x3+x2+5x+1 �� x4+2x3−x2+4x−2 �� x3+x+2 �� −3x4+2x3+2x2+5x−1

�� 2x2 + 4x− 1 	� 2x− 5 
� −3x3 + 4x2 + 6x− 1 �� 6x7 + 9x3 + 2x2 + 2x− 4

�� −x3 + 6x2 + 2x − 4 
� 5x7 �� x4 − x3 + x2 − x + 1 �� 3 �� 0

�� x3 + 6x2 + 4x − 2 �� 5x5 − 2x4 + 4x3 + 2x − 1

2
�� 2x3 +

3

2
x2 +

1

3
x − 3

4

��
7

6
x3 + 2x2 +

3

2
x +

1

2
�� 4x8 +

2

7
x6 +

26

3
x3 + x2 − 2

15
x + 4

�� −√
2x3 −√

3x2 +
√

5x −√
7 ��

√
3x5 + x4 + x3 + 2

√
2x2 − 5

√
3x + 2

�� �� 2x3 − x2 + 2x + 3 �� −x4 + 2x3 + 3x2 − 4x − 2 �� 2x3 − x − 4

�� −x4 − 4x3 + 2x2 − 5x + 1 �� 2x2 + 2x + 3 	� 6x− 1 
� −7x3 + 4x2 − 5x− 1

�� 3x7 �� x3 +6x2 +2x− 4 
� 6x7 − 4x3 − 2x2 +2x +4 �� x4 + x3 + x2 + x +1

�� 8x3 �� 8x4 − 4x2 − 10x �� x3 − 4x2 + 6x− 3 �� 3x5 + 2x4 + 4x3 − 5

2
x2 − x

�� −2x3+
3

4
x2− 1

5
x+

3

4
��

11

6
x3−2x2+

5

2
x− 7

6
�� 3x10+2x7− 5

3
x3− 5

6
x2+4x+7

�� 5
√

2x3 −√
3x2 −√

5x −√
7 ��

√
3x5 − x4 +

√
2x2 + 3

√
3x + 7

�� �� 3x4 + 3x3 − 4x2 + 4x + 5 �� x4 + 6x3 − 4x2 + 9x + 10 �� 2x4 − 3x3 − 5x − 5

�� x4 + x + 2 �� 3x4 + 6x3 − 6x2 + 8x + 9 	� −x4 + 2x2 + 2x + 3


� 6x3 − 2x2 + 11x + 13 �� 2x4 + 12x3 − 10x2 + 15x + 15

�� −3x4 − 3x3 + 2x2 − 7x − 10 
� 12x3 − 4x2 + 22x + 26 �� −2x2 − 3x − 5

�� 9x4 + 6x3 + 11x + 16

��� �������




